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FOUNDATION TIER

Questions ONE o FIVE: Choose one answer for each of the parts 1 to 4.
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QUESTION ONE 12 3 4y [ QUESTION TWO R T
ear 0680 amino acids ST = T e
eye o 90 D liver © e B 0
nose O 0 0 O lungs @ o0 0
skin__ O 0 0 o _respiration © O 0 0)
QUESTION THREE 123 @&y QUESTION FOUR 1 2 3 4)
force of gravity o 0 0.8 phloem tissue @ 0.0 9
hormones o @ 0 0 roots c G QD
light 0 0 00O stomata (o o o J o
k_muis‘ture O 0 0 O kx}rlem tissue G O 0 0
( QUESTION FIVE Iy
controls the size of the pupil G 0
focuses the light © 0 0 0
holds the lens in position (= I > Mo B <
§ carries impulses to the brain 0 0 0 O
Questions SIX and SEVEN: Choose two answers for each question, - -
[ QUESTION SIX )
cold and dry conditions o
cold and moist conditions o
Jot and dry conditions o
hot and moist conditions (s}
hhot and windy conditions o 2
£ QUESTION SEVEN =3
they contain a nucleus o
they contain cell sap o
the contain cytoplasm B
they have a cell membrane o
they use chlorophyll to trap light .
Questions EIGHT lo TEN: Choose one answer for each of the parts 1 to 4,
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Questions ONE and TWO: Choose one answer for each of the parts 1 to 4.

QUESTION ONE 1 2 3 4 QUESTION TWO 12 3 4
cantrals the size of the pupil o o o o0 glucagon o = i = =
focuses the light O 0 0 0 glycogen B aag D
holds the lens in position 0O 0 0 O insulin 0O 000
carries impulses to the brain o 0o 0 pancreas &' 0.0 D

Questions THREE and FOUR: Choose two answers for each question.

& QUESTION THREE )
they contain a nucleus (o]
they contain cell sap o
they contain cytoplasm o
they have a cell membrane (o]
they use chlorophyll to trap light o

E QUESTION FOUR 3
it can cause lung cancer o
it combines irreversibly with haemoglobin o
it combines with oxygen to form carbon dioxide >
it dissolves in water to form an acid o

o

[t stops red blood cells carrying oxygen

Questions FIVE to TEN: Choose one answer for each of the parts 1 to 4.
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